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ST. LAWRENCE HIGH SCHOOL
A JESUIT CHRISTIAN MINORITY INSTITUTION

Solutions - 31
Class: Xl Sub: Biological Science Date: 10.07.2020

FOR GOD AND COUNTRY

Topic: Ch 7 (Part 9) Human Evolution
F.M.:15

Choose the correct option: (1x15=15)

1. The main factor or factors responsible for Human Evolution.
a) Increased Aridity b)Dwindling of forests c) Increased competition d) All of these
Answer : All of these (d)
2. The common ancestral stock of ape and man is called :-
a)Hominid b) Hominoids c) Anthropoidea d) None of these
Answer : Hominoids (b)
3. The flattened face in man is called :-
a)Prognathous b) Orthognathous c) Mandibular Prognathous d) None of these
Answer : Orthognathous (b)
4. The dental arch in apes was shaped.
a)U-shaped b) V-shaped c) Rounded Parabola d) Inverted U
Answer : U-shaped (a)
5. The group of apes which were found in Miocene about 20-25 million years ago :-
a) Rampithecus b) Dryopithecus c) Australopithecus d) Proconsul
Answer : Dryopithecus (b)
6. The fossil deposits of Australopithecus was discovered by :-
a) Mary Leaky b) W.C. Pei c) Raymond Dart d) Leakey
Answer : Raymond Dart (c)
7. Australopithecus is also known as because it had head like that of ape and skeleton
like that of man.
a) Pre-ape b) Ape man c) Handy Man d) None of these
Answer : Ape man (b)
8. The first human ancestor to make tools of chipped stones:-
a) Australopithecus b) Homo habilis c) Sivapithecus d) Ramapithecus
Answer: Homo habilis (b)
9. Homo habilis is also known as .
a) Ape man b) Pre-ape c) Handy man d) Erect man
Answer : Handy man (c)
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The forerunner of Modern Man is :-

a) Homo habilis b) Homo erectus c) Australopithecus d) None of these

Answer : Homo erectus (b)

Neanderthal man became extinct about :-

a) 40,000 years ago b) 1 million years ago c) 25,000 years ago d) 50,000 years ago

Answer : 25,000 years ago (c)

Neanderthal man were wiped out by their more advanced cousins :-

a) Rhodesian man b) Cro Magnon man c) Modern man d) Ape-man

Answer : Cro Magnon Man (b)

The following is not the characteristic of Neanderthal man :-

a) Cranial capacity was about 1450 cc b) Semi-erect posture c) 1.8 metres tall d) Forehead
low and slanting

Answer : 1.8 metres tall (c)

The following is the characteristic of Cro Magnon Man :-

a) about 1.8 metre tall b) Perfect erect posture c) Cranial capacity 1650 cc d) All of these

Answer : All of these (d)

Modern man (Homo sapiens sapiens) evolved about years ago.

a) 30,000 b) 50,000 c) 25,000 d) 1 million

Answer : 25,000 (c)
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